B.Com Sixth Semester — Business Finance |l
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1. Email *

Question Paper / UR-UfAebT

2. Q) What is full form of NSE
Mark only one oval.

Nagpur Stock exchange
Nigerian Stock Enterprises
National Stock Exchange

None of the Above

3. Q) If Profitability Index of project is 1.24, then
Mark only one oval.

Accept the project
Reject the project
Indifference

None of the Above

4. Q) Initial Investment of project is Rs. 25,000 and constant annual cash

inflow Rs.5,000. Find out Pay Back Period.

Mark only one oval.

6 Years
4 Years
5 Years

None of the Above

2 points

2 points

2 points



5. Q) Payback period of the project should be.................... good for project 2 points
Mark only one oval.

Maximum
Minimum
One year

Two year

6. Q)If EPSis Rs.8/- and dividend payout ratio is 25 % then amount of 2 points
Dividend is

Mark only one oval.

5
6
2
10

7. Q) Calculate NPV Summation of PV of cash Inflow = 48,961 Summation of PV 2 points
of cash out flow = 40,000

Mark only one oval.

8,961
7,500
8,400
1.2240

8. Q) If Dividend Payout ratio is 70% the retention ratio would be 2 points
Mark only one oval.

40%
60%
30%
20%



9. Q) If 6% Pref. share capital ¥2,00,000 were redeemed at a premium of 5%, 2 points
while preparing Cash Flow Statement its effect on cash flow will be

Mark only one oval.

Cash used from financing activities ¥2,12,000
Cash received from financing activities ¥2,12,000
Cash used (Payment) from financial activities ¥2,10,000

Cash used (Payment) from financial activities ¥2,00,000

10. Q) Calculate profitability Index? Summation of PV of cash inflow = 80,000 2 points
Summation of PV of cash outflow = 1,00,000

Mark only one oval.

0.7

0.8

1
-20000

11. Q) Inventory on December 31, 2018: Rs.5,000Inventory on December 31, 2 points
2019: Rs.3,000Accounts payable on December 31, 2018:
Rs.12,000Accounts payable on December 31, 2019: Rs.15,000Cost of
goods sold for the year 2019: Rs.50,000Based on the above information,
the net cash paid to suppliers of inventory duringthe year 2019 is

Mark only one oval.

Rs. 49000
Rs. 55000
Rs. 45000
Rs. 51000

12. Q) which of the following investments are not cash flow /RTetedas! BT 2 points
TjdqULeh IRG YaTg gt

Mark only one oval.

purchase of marketable securities for Rs. 25,000 cash
sale of land for Rs. 28,000 cash
sale of 2,500 shares of common stock for Rs.15 each

purchase of equipment for Rs.500 cash



13. Q) Which of the following is types of financial market [RATefteT 9eht SHIuTa

3Nfefes STSIRUS 3%

Mark only one oval.

Money Market/&+t ATche
Capital Market/¥igad IR
Foreign Exchange Market/d=&hiI I STSTR

All of the Above /a9 Id

14. Q) What is Full form of BSE.
Mark only one oval.

Bombay Stock enterprises
Bombay Stock Exchange
Banaras stock exchange

Bharat stock exchange

15. Q) CRICIL Promoted by. /fosfaciet Ivft yHie oot

Mark only one oval.

ICICI, UTI
IDBI, SBI
AXIS, UTI
PNB, SBI

16. Q) Functions of Primary Market/dTifHe SISTRT BH
Mark only one oval.

New issue offer /afa 3g[ 3TH

Underwriting services/3igRmafe dar
Distribution of new issue /f3¥I=geM Siith =1 331
All of the Above /e @d

2 points

2 points

2 points

2 points



17. Q) What is full form of IRR? 2 points
Mark only one oval.

Internal Rate of return
International rate of recovery
Indian recovery rate

None of the Above

18. Q) The Securities and Exchange Board of India (Sebi) is a statutory 2 points
regulatory body established by the Government of India in year / HRdI

RIS vardst a1 (Jah) g vas denfes fames T 3R Sft siuren st
YRd WRBRA T Fe.

Mark only one oval.

2013
1992
1956
2002

19. Q) Objectives of SEBI 2 points
Mark only one oval.

To monitor the activities of the stock exchange, To safeguard the rights of the

investors/ Wit YaRdSTeAT ShIATAR ToR &1, TdaUehaRI<IT §aehid Y&T0T Ut

To curb fraudulent practices by maintaining a balance between statutory regulations
and self-regulation./ dutfes fgw oy Ta: = Faw= gieard dge I hHT UgdHT 31T
HTTUgTATST.

To define the code of conduct for the brokers, underwriters, and other

intermediaries./&dTd, WIS MO SAR ALIRITITS! SR ZdT ufReqivd ot
All of the above /a9 @d

20. Q) In which Market IPO (Initial Public Offer) are Issued/ SYUTT HIdEHE 3T 2 points
I 3t (sffRRe ufssies 3T ) STRI et SiTdTd

Mark only one oval.

Money Market/®+i} ATdhe
Secondary Market/g@H STSIR
Local Market /®11feh ek

Primary Market/urafie aoiR



21.

22.

23.

24.

Q) Which of the following action is Not allowed for NBFC

Mark only one oval.

Debt /a&st
Acquisition of Shares/aR @ 3reftugon
Insurance Business /fa#1 sggar

Construction of Real Estate /31 ATeTH<T Si¢hTd

Q) Example of NBFC/G-Tsll Tt 4t ot 3argeul

Mark only one oval.

Bajaj Finance Limited/dsTTst his—d fofids

Muthoot Finance/qYg g4 faifids

Mahindra and Mahindra Finance Limited/afgsr Us afgar wsAg faifaes
All of the Above/adid g

Q) What is the role of Stock Exchange/3cids Tadsl ot {fHdbT B 318
Mark only one oval.

Raising Capital for Business/ SAaarIhATS! Higael IH 0!
Accumulating savings for investment/Tdau[ehETS! Sad STHT ot
Facilitating the Growth for Company /et are e s

All of the above /a3 ¥d

Q) Who is the regulator of Indian Stock Market/MRd1d IRR STSIRM fFamme

BT 3MTg
Mark only one oval.

Reserve bank of India /Rsid den it gfear

Insurance Regulatory Development Authority (IRDA)/fa#T fAame faera mfdrenzor

(ITAIMRENT)

Securities and Exchange Board of India (SEBI)/¥Rea grer fafaaw dsa (Idft)

Forward Market Commission (FMC)/%hixds HTche dhiHM

2 points

2 points

2 points

2 points



25. Q) Where the Company has declared a dividend, it must be paid within 2 points
days from the date of declaration / 518 GUI TRl TIfYd ol 31Tg, i

i gIodTe AU feaaran 311d wRal anTal
Mark only one oval.

30
45
50
60

26. Q) What is the Secondary Market 2 points
Mark only one oval.
Where trades of previously issued securities / 501 f&erf qdf SRt Shetedn dergRér=n

TYR hedl STTdT

Where buying and selling od new securities is done/fSi2 wifa= SergRE=t @Rl fasht et
ST

Where the IPO is sold/fSie smadtant fashy dheft SITat
None of the above/aierd<h! shivrdat ATe!

27. Q) Who is the regulator of insurance sector in India MR fadT &= 2 points
T BT 3R

Mark only one oval.

Reserve bank of India /Rsid s ot gfgar

Insurance Regulatory Development Authority (IRDA)/fawT famaes faesrs wfereszor
(SMTIRSIY)

Securities and Exchange Board of India (SEBI)/¥Reta grer fafAaw dga (Idft)
Forward Market Commission (FMC)/%hiRas ATdhe shiHM

28. Q) Name of India's First Credit Rating MRdTdId dfgell 9 ST TSI A 2 points
B 3T

Mark only one oval.

CRISIL
SBI
SEBI
IRDI



29.

30.

31.

32.

Q) is concerned with the acquisition, financing, and 2 points
management of assets with some overall goal in mind./ %W’fﬁ

fafere & Ut ATeTFRIdt ATeTAT, fadqRaseT 30T STaeTo- IR deg 3.

Mark only one oval.

Financial management/ s egawmaa
Profit maximization/tT aregut

Agency theory/Ts=t Rigia

Social responsibility/amHTfSies STaTeERY

Q) The rate of interest offered by the fixed deposit scheme of a bank for 2 points
365 days and above is 12%. What will be the status of Rs. 20000, after two
years if it is invested at this point of time?

Mark only one oval.

Rs. 28032
Rs. 24048
Rs. 22056
Rs. 25088

Q) All venture capital funds in India have been promoted by Government./ 2 points

YRATde 9d 3eW Wisaared el SfeRrd MM dbet 3MMg.

Mark only one oval.

True/sRIsR
False/d&

Q) Financial Planning deals with the preparation of financial statements./ 2 points

3Nfefep fAIST BRI Wel< daR HIuIRi daferd 3g.

Mark only one oval.

True/aRIeR
False/da%h



33. Q) Cash Flow which are based on movement of / A YaTg St 2 points

T gIeTATciieR 3MEMd 3med

Mark only one oval.

Shares/<i3rd
Goods/a¥]
Cash/3I=@

Assets/HATAHT

34. Q) Dividend Growth Model was Invented by /fSfoggs The Hiserar e HIOH 2 points
T TeAT

Mark only one oval.

Alfred Walter
Prof. James
Myron J. Gordon

Srinivasa Ramanujan

35. Q) EPS is Rs.6 Dividend Payout Ratio is 30% Cost of Equity in 10% What 2 points
should be value of Share as per walter's model at 30% dividend payout
ratio

Mark only one oval.

100
102
120
105

36. Q)EPSisRs.10/-, DPS is Rs.6/-, Cost of Capital 20%, Internal Rate of Return 2 points
25% Retention Rs.4/- calculate market Price of Share as Per Walter's Model

Mark only one oval.

65
58
55
50



37. Q) Which accounting standard is required for Cash flow statement [ 2 points

el TeeHedIa! BIvTd TPBI3TET TS 3MaTD 3

Mark only one oval.

AS 2
AS7
AS 3
AS 10

38. Q) Pay-back period of Machine 1is 0.703 Years and Machine 2 is 1.5 Years 2 points
which machine should be selected on the basis of Pay back period

Mark only one oval.

Machine 1
Machine 2
Machine 1 and Machine 2

None of the above

39. Q) NPV of Project A is 67 Lacs and NPV of Project B is 272 Lacs Which 2 points
project to be selected on the basis of NPV

Mark only one oval.

Project A
Project B
Project A & Project B

None of the Above

40. Q) Calculate present value of 5 year annuity of Rs. 1 @10% 2 points
Mark only one oval.

0.62092
3.79078
3.1046
3.1698



Q) Project A Requiring Investment of Rs.1,00,000/- has scrap value of 2 points
Rs.10000/- after 5 years Average Net Profit in Rs. 177000/~ calculate ARR
with average investment Method

Mark only one oval.

() 30.90%
() 35.90%
() 42.15%
() 65.25%
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